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ENGLISH LANGUAGE
Direction (Q. No. 1 to 6)

In these questions, a sentence has been 
divided into four parts (a), (b), (c) and (d). 
Read the sentence to find out whether there 
is any grammatical error in it. The error if 
any, will be in one part of the sentence. Mark 
that part as your answer. If there is no error, 
the answer is ‘No error’. Ignore the error of 
punctuation if any.

	 1.	 The room was (a) crowded with (b) small 
pieces of furnitures, (c) cupboards, and 
little tables. (d)

		  (A)	a	 (B)	 b
		  (C)	 c	 (D)	d
		  (E)	 No error
	 2.	 He thought (a) of the number of times (b) 

that himself (c) had been a coward. (d)
		  (A)	a	 (B)	 b
		  (C)	 c	 (D)	d
		  (E)	 No error

	 3.	 He ate (a) greedily the chicken sandwich 
(b) in the manner of (c) starving man. (d)

		  (A)	a	 (B)	 b
		  (C)	 c	 (D)	d
		  (E)	 No error

	 4.	 I bought (a) some Mughal silver charming 
ornaments (b) at the Hauz Khas market (c) 
and enjoyed visiting the ruins yesterday. 
(d)

		  (A)	a	 (B)	 b
		  (C)	 c	 (D)	d
		  (E)	 No error

	 5.	 Mr. Roy was admitted (a) to the hospital 
yesterday (b) with a gunshot wound (c) 
to his leg. (d)

		  (A)	a	 (B)	 b
		  (C)	 c	 (D)	d
		  (E)	 No error

	 6.	 There's a morning (a) Rajdhani train that 
(b) making the trip from (c) Kolkata to 
Delhi in less than ten hours. (d)

		  (A)	a	 (B)	 b

		  (C)	 c	 (D)	d

		  (E)	 No error

Direction (Q. No. 7 to 12)
Fill in the blanks with the correct word from 
the options given below :

	 7.	 The problems associated with abandon-
ment are so common, with such grave 
________, that it is classified as gender-
based violence.

		  (A)	Reciprocation	 (B)	 Result
		  (C)	 Propaganda	 (D)	Ramifications
		  (E)	 Intimidation

	 8.	 The virus had ________ none of us knew 
existed.

		  (A)	 freedom	 (B)	 terms

		  (C)	 powers	 (D)	agony

		  (E)	 safe

	 9.	 As the snow melted, the roads became 
very ________.

		  (A)	 slippery	 (B)	 shallow

		  (C)	 defective	 (D)	 impolite

		  (E)	 capable

	 10.	 The tortoise jumped into the lake with 
________ of becoming a sea turtle.

		  (A)	 loss	 (B)	 series

		  (C)	 basis	 (D)	dreams

		  (E)	 answers

	 11.	 It was a strange fact, however, that talent 
and skill, if ________ for too long, cease 
to dazzle.

		  (A)	 suspended	 (B)	 spent

		  (C)	 displayed	 (D)	 surrounded

		  (E)	 commanded

	 12.	 The novel was a great ________ and he 
gave up his job to pursue literature.

		  (A)	control	 (B)	 failure

		  (C)	 charity	 (D)	variety

		  (E)	 success
Direction (Q. No. 13 to 17)

Given below is a word, followed by three 
sentences which consist of that word. Identify 
the sentences(s) which best express(es) the 

meaning of the word. Choose option E ‘None 
of the above’ if the word is not suitable in any 
of the sentences.

	 13.	 SQUASH
		  a.	 The spectators had to be squashed 

into the hall for want of space.
		  b.	 We are in no position to squash the 

simmering tensions between the two 
communities.

		  c.	 He squashed his car into the tree.
		  (A)	Both a and b	 (B)	 Both b and c
		  (C)	 Only c	 (D)	Only b
		  (E)	 None of the above

	 14.	 DROWSY
		  a.	 Although he's quite old he's still very 

drowsy.
		  b.	 He had regained consciousness but 

was drowsy and uncomfortable.
		  c.	 I'd just woken up and was still drowsy.
		  (A)	Only a	 (B)	 Only b
		  (C)	 Both b and c	 (D)	Both a and c
		  (E)	 None of the above

	 15.	 ANALYSIS
		  a.	 He did a wonderful analysis of the 

subject after the exam.
		  b.	 The man felt dejected seeing the 

analysis of his new car.
		  c.	 A perfect analysis of the land is very 

essential before a counteroffensive.
		  (A)	Both a and b	 (B)	 Both a and c
		  (C)	 Only a	 (D)	Only b
		  (E)	 None of the above

	 16.	 VULGAR
		  a.	 She laughed in a loud, vulgar manner 

that distressed the guests.
		  b.	 The crowd felt happy and vulgar 

after cheering for their team.
		  c.	 He had a disarming voice and a calm 

vulgar look that put her at ease.
		  (A)	Both a and b	 (B)	 Both b and c
		  (C)	 Only c	 (D)	Only a
		  (E)	 None of the above
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	 17.	 CAUTIOUS
		  a.	 He was such a reckless and cautious 

driver that nobody wanted to get in 
his car.

		  b.	 The cautious zebra failed to notice the 
approaching lion and was mindlessly 
jumping around in the field.

		  c.	 Her cautious attitude irked her 
mother as she knew that one day it 
would get her into trouble.

		  (A)	Both a and b	 (B)	 Both b and c
		  (C)	 Only b	 (D)	Only c
		  (E)	 None of the above

Direction (Q. No. 18 to 25)
Read the passage given below and answer the 
questions that follow.

Fish are one of the most highly utilized and 
intriguing vertebrate taxa by humans; they are 
harvested from wild stocks as part of global 
fishing industries, grown under intensive 
aquaculture conditions, are the most common 
pet and are widely used for scientific research. 
But fish are seldom afforded the same level 
of compassion or welfare as warm-blooded 
vertebrates. Part of the problem is the large 
gap between people's perception of fish 
intelligence and the scientific reality. This is 
an important issue because public perception 
guides government policy. The perception 
of an animal's intelligence often drives our 
decision whether or not to include them in our 
moral circle.
From a welfare perspective, most researches 
would suggest that if an animal is sentient, then 
it can most likely suffer and should therefore be 
offered some form of formal protection. There 
has been a debate about fish welfare for decades 
which centres on the question of whether they 
are sentient or conscious. The implications for 
affording the same level of protection to fish 
as other vertebrates are great, not least because 
of fishing-related industries. Here, the passage 
reviews the current state of knowledge of fish 
cognition starting with their sensory perception 
and moving on to cognition. The review reveals 
that fish perception and cognitive abilities 
are abundant, often matching or exceeding 
other vertebrates. A review of the evidence 
for pain perception strongly suggests that fish 
experience pain in a manner similar to the rest 
of the vertebrates. Although scientists cannot 
provide a definite answer on the level of 
consciousness for any non-human vertebrate, 
the extensive evidence of fish behavioral and 
cognitive sophistication and pain perception 
suggests that best practice would be to lend 
fish the same level of protection as any other 
vertebrate.

	 18.	 Why are fish not afforded the same level 
of compassion as other vertebrates ?

		  (A)	Fish live in water therefore they are 
not considered as vertebrates

		  (B)	 The wide variety of fish makes it 
impossible to offer compassion

		  (C)	 There is a large gap between people's 
perception of fish intelligence and 
reality

		  (D)	Fish are highly aggressive creatures 
that should be used only for food

		  (E)	 None of the above

	 19.	 What helps humans to decide whether or 
not to include an animal in their moral 
circle ?

		  (A)	The amount of loyalty that the animal 
is willing to show

		  (B)	 The visible aggressive nature of the 
animal

		  (C)	 Classification on the basis of taxonomy
		  (D)	The perception of an animal's intel-

ligence
		  (E)	 None of the above

	 20.	 The debate about fish welfare is centered 
on :

		  (A)	The question of whether they are 
sentient or conscious

		  (B)	 The question of whether they have a 
moral circle or not

		  (C)	 The question of whether they are 
vertebrates or invertebrates

		  (D)	All of the above
		  (E)	 None of the above

	 21.	 Which of the given statements is false 
according to the passage ?

		  (A)	Fish perception and cognitive abilities 
are abundant

		  (B)	 Fish are harvested from wild stocks 
as part of global fishing industry

		  (C)	 Researches suggest that if an animal 
is sentient it can most likely suffer

		  (D)	Fish do not experience pain in a 
manner similar to that of other 
vertebrates

		  (E)	 None of the above

	 22.	 What does the passage review ?
		  (A)	The level of compassion and welfare 

to fish
		  (B)	 The gap between intelligence and 

reality
		  (C)	 The definitive answer to human 

consciousness
		  (D)	The current state of knowledge of fish 

cognition
		  (E)	 None of the above

	 23.	 Which of the given statement is true 
according to the passage ?

		  (A)	The cognitive ability of fish makes 
it one of the most sought after 
vertebrates

		  (B)	 Fish are grown under intensive aqua-
culture conditions

		  (C)	 Cognitive abilities of vertebrates are 
higher than that of invertebrates

		  (D)	Fish are immune to pain and have 
high cognitive tolerance

		  (E)	 None of the above

	 24.	 What is the synonym of the word 
intriguing mentioned in the passage ?

		  (A)	Gripping	 (B)	 Boring
		  (C)	 Worrying	 (D)	Frightening
		  (E)	 Confusing

	 25.	 What is the synonym of the word abundant 
mentioned in the passage ?

		  (A)	Plentiful	 (B)	 Scarce
		  (C)	 Paltry	 (D)	Meagre
		  (E)	 Rare

Direction (Q. No. 26 to 30)
Rearrange the following five sentences (a), 
(b), (c), (d) and (e) in a proper sequence so 
as to form a meaningful paragraph, and then 
answer the questions given below.

a.		  Being native or foreign is society's enduring 
parameter of judging belonging.

b.		  People judge others by their skin, gender, 
caste, religion and class.

c.		  Unfortunately, ecology is also now a realm 
of judgement, beyond mere objective 
labelling. Conservationists label trees as 
alien and exotic.

d.		  Some criticised the felling and sympathised 
with the forest. Others joined the tree-
shaming or remained silent about the 
felling.

e.		  And the Nilgiri administration recently 
judged a forest as dispensable on that 
count.

	 26.	 Which of the following sentence is 
FIRST in the above given passage ?

		  (A)	a	 (B)	 b
		  (C)	 d	 (D)	e
		  (E)	 c

	 27.	 Which of the following sentence is 
SECOND in the above given passage ?

		  (A)	a	 (B)	 e
		  (C)	 d	 (D)	c
		  (E)	 b
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	 28.	 Which of the following sentence is 
THIRD in the above given passage ?

		  (A)	a	 (B)	 b
		  (C)	 d	 (D)	e
		  (E)	 c

	 29.	 Which of the following sentence is 
FOURTH in the above given passage ?

		  (A)	a	 (B)	 b
		  (C)	 e	 (D)	d
		  (E)	 c

	 30.	 Which of the following sentence is 
FIFTH (LAST) in the above given 
passage ?

		  (A)	 b	 (B)	 c
		  (C)	 d	 (D)	a
		  (E)	 e

la[;kRed ;ksX;rk
	 31.	 ,d ijh{kk esa 40 fo|kfFkZ;ksa dk vkSlr 75 gS] 

ckn esa ;g ik;k tkrk gS fd 2 Nk=ksa ds vad 
65 o 69 ds ctk, 56 o 38 fy;s x;s gSaA lgh 
vkSlr Kkr dhft,A

		  (A)	74	 (B)	 72
		  (C)	 76	 (D)	80
		  (E)	 buesa ls dksbZ ugha

	 32.	 A ,d dk;Z dks 18 fnuksa esa dj ldrk gS rFkk 
B ,d dk;Z dks 15 fnuksa esa dj ldrk gSA B us 
10 fnuksa rd dk;Z fd;k vkSj dk;Z NksM+ fn;kA A 
vdsyk 'ks"k dk;Z fdrus fnuksa esa iwjk dj ldrk 
gS\

		  (A)	6	 (B)	 5
		  (C)	 8	 (D)	4

		  (E)	 buesa ls dksbZ ugha

	 33.	 ,d fuf'pr jkf'k ij 5 çfr'kr çfr o"kZ dh nj 
ls 8 o"kZ dk lk/kkj.k C;kt ̀  840 gSA C;kt dh 
nj D;k gksxh ftlds fy, 5 o"kks± ckn leku 
jkf'k ij leku C;kt çkIr fd;k tk;s\

		  (A)	7%        	 (B)	 8%
		  (C)	 9%	 (D)	10%

		  (E)	 buesa ls dksbZ ugha

	 34.	 A vkSj B dh orZeku vk;q Øe'k% 36 o"kZ o 50 
o"kZ gSaA ;fn k o"kks± ckn mudh vk;q dk vuqikr 
3 : 4 gksxk] rks k dk eku Kkr dhft,A

		  (A)	3	 (B)	 4
		  (C)	 6	 (D)	7

		  (E)	 buesa ls dksbZ ugha

	 35.	 vyx&vyx {kerk ds nks [kkyh tkj esa leku 

ek=k esa ikuh Mkyk x;k ftlls ,d tkj 
1

4
 

rFkk vU; tkj 
1

3
 Hkj x;kA ;fn de {kerk 

okys tkj ls ikuh dks vf/kd {kerk okys tkj 

esa Mkyk tkrk gS rks ikuh ls Hkjs cM+s tkj dk 
fgLlk fdruk gksxk\

		
(A)

	

1

2 	
(B)

	

7

12

		
(C)

	

1

4 	
(D)

	

1

3

		  (E)	 buesa ls dksbZ ugha

funsZ'k (ç'u la[;k 36 ls 40 rd)

fuEufyf[kr tkudkjh dks /;kuiwoZd i<+sa vkSj 
fuEufyf[kr ç'uksa ds mÙkj nsaA

,d d{kk esa dqy 60 Nk= gSaA lHkh Nk= rhu Qwyksa esa ls 
dsoy ,d dks ilan djrs gSa] vFkkZr~ dey] lwjteq[kh 
vkSj xqykcA yM+dksa dh la[;k] yM+fd;ksa dh la[;k 

dk 
5

7
 xquk gSA xqykc ilan djus okyh yM+fd;ksa dh 

la[;k vkSj yM+dksa dh dqy la[;k dk vuqikr 2 : 7 
gSA lwjteq[kh ilan djus okys yM+dksa dh la[;k] 
xqykc ilan djus okyh yM+fd;ksa dh la[;k dk 60% 
gSA lwjteq[kh ilan djus okyh yM+fd;ksa dh la[;k] 
lwjteq[kh ilan djus okys yM+dksa dh la[;k dk 2.5 
xquk gSA lwjteq[kh ilan djus okyh yM+fd;ksa dh la[;k 
dey ilan djus okys yM+dksa dh la[;k dk 150% gSA

	 36.	 d{kk esa dqy yM+fd;ksa dh la[;k Kkr dhft,A
		  (A)	30	 (B)	 25
		  (C)	 35	 (D)	40

		  (E)	 buesa ls dksbZ ugha

	 37.	 dey dks ilan djus okys yM+dksa vkSj yM+fd;ksa 
dk vuqikr Kkr dhft,A

		  (A)	1 : 2	 (B)	 3 : 5
		  (C)	 2 : 1	 (D)	1 : 1
		  (E)	 buesa ls dksbZ ugha

	 38.	 xqykc dks ilan djus okys dqy Nk=ksa dh la[;k 
Kkr dhft,A

		  (A)	19	 (B)	 18
		  (C)	 21	 (D)	22
		  (E)	 buesa ls dksbZ ugha

	 39.	 xqykc dks ilan djus okys yM+ds dey dks 
ilan djus okyh yM+fd;ksa dk fdruk çfr'kr 
gS\

		  (A)	85%	 (B)	 90%

		  (C)	 75%	 (D)	95%
		  (E)	 buesa ls dksbZ ugha

	 40.	 dey vkSj lwjteq[kh dks ilan djus okys 
yM+dksa dh dqy la[;k rFkk lwjteq[kh vkSj 
xqykc dks ilan djus okyh dqy yM+fd;ksa ds 
chp vUrj Kkr dhft,A

		  (A)	8	 (B)	 7

		  (C)	 9	 (D)	6

		  (E)	 buesa ls dksbZ ugha

funsZ'k (ç'u la[;k 41 ls 45 rd)

fuEufyf[kr esa ls çR;sd la[;k Ükà[kyk esa ,d xyr 
la[;k nh xbZ gS] og la[;k Kkr dhft,A

	 41.	 5, 9, 18, 33, 65, 129
		  (A)	33	 (B)	 65
		  (C)	 18	 (D)	9
		  (E)	 129

	 42.	 15, 17, 19, 25, 32, 43
		  (A)	17	 (B)	 19
		  (C)	 32	 (D)	43
		  (E)	 25

	 43.	 5, 6, 14, 40, 105, 230
		  (A)	40	 (B)	 5
		  (C)	 14	 (D)	105
		  (E)	 230
	 44.	 540, 540, 270, 135, 22.5, 4.5
		  (A)	540	 (B)	 270
		  (C)	 22.5	 (D)	135
		  (E)	 4.5
	 45.	 120, 80, 65, 50, 45, 42.5
		  (A)	45	 (B)	 42.5
		  (C)	 65	 (D)	80
		  (E)	 120

funsZ'k (ç'u la[;k 46 ls 50 rd)

fuEufyf[kr ç'uksa esa ç'uokpd fpÊ ‘?’ ds LFkku 
ij D;k vk;sxk\

	 46.	 (3.9 + 4.1) × 2.5 + 9 – 25 = ?2

		  (A)	5	 (B)	 3
		  (C)	 2	 (D)	4

		  (E)	 buesa ls dksbZ ugha

	 47.	 90 dk 60% + 12.5% × 64 – 39 + 16 = ?
		  (A)	35	 (B)	 39
		  (C)	 38	 (D)	41

		  (E)	 buesa ls dksbZ ugha

	
48.

	

306

17
12 6 18 30×




÷ + − = ?

		  (A)	22	 (B)	 21
		  (C)	 23	 (D)	24

		  (E)	 buesa ls dksbZ ugha

	 49.	 (123 – 51) ÷ 3 + 33 – ? = 239
		  (A)	340	 (B)	 239
		  (C)	 347	 (D)	452

		  (E)	 buesa ls dksbZ ugha

	 50.	 (33.98 + 28.02 +2)1/2 × 3.2 – 11.6 = ?
		  (A)	14	 (B)	 16
		  (C)	 12	 (D)	11

		  (E)	 buesa ls dksbZ ugha
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funsZ'k (ç'u la[;k 51 ls 55 rd)

MsVk dk /;kuiwoZd v/;;u djsa vkSj fuEufyf[kr 
ç'uksa ds mÙkj nsaA

2 eghus ds nkSjku 4 O;fDr;ksa }kjk mRiknu MsVk 
fuEufyf[kr gS&

2 eghuksa ds nkSjku 4 O;fDr;ksa }kjk mRiknu (Vu esa)

5

4

3

2

1

0
A B C D

tuojh Qjojh

	 51.	 A dk tuojh esa mRiknu] B dk tuojh esa 
mRiknu ls fdruk çfr'kr (yxHkx) vf/kd gS\

		  (A)	82%	 (B)	 76%
		  (C)	 70%	 (D)	90%
		  (E)	 65%

	 52.	 Qjojh eghus dk dqy mRiknu dk vkSlr Kkr 
dhft,A

		  (A)	2.85	 (B)	 2.89
		  (C)	 2.65	 (D)	2.96
	 	 (E)	 buesa ls dksbZ ugha

	 53.	 C vkSj D dk ,d lkFk tuojh eghus esa dqy 
mRiknu rFkk B o C dk ,d lkFk Qjojh eghus 
ds mRiknu dk vuqikr Kkr dhft,A

		  (A)	37 : 32	 (B)	 33 : 31
		  (C)	 28 : 29	 (D)	30 : 31
		  (E)	 buesa ls dksbZ ugha

	 54.	 tuojh eghus vkSj Qjojh eghus ds dqy mRiknu 
ds chp vUrj Kkr dhft,A

		  (A)	2000 fdxzk	 (B)	 2100 fdxzk

	 	 (C)	 2500 fdxzk	 (D)	2200 fdxzk

		  (E)	 buesa ls dksbZ ugha

	 55.	 A }kjk Qjojh eghus dk mRiknu vkSj C }kjk 
tuojh eghus dk mRiknu Kkr dhft,A

		  (A)	5 Vu	 (B)	 5.8 Vu

	 	 (C)	 6 Vu	 (D)	4.8 Vu

		  (E)	 buesa ls dksbZ ugha

funsZ'k (ç'u la[;k 56 ls 60 rd)

fuEufyf[kr ç'u esa ç'u fpÊ (?) ds LFkku ij 
D;k vk;sxk\

	 56.	 855.8 + 89.2 – (19 × 12) + (64 ÷ 4) = ?
		  (A)	732	 (B)	 733
		  (C)	 645	 (D)	644
		  (E)	 buesa ls dksbZ ugha

	 57.	 96 dk 16.66% + 200 dk 37.5% – (27 × 2) 
= ?

		  (A)	37	 (B)	 40
		  (C)	 51	 (D)	31

		  (E)	 buesa ls dksbZ ugha

	
58.

	

5

7

13

21
6 50 762+




× + − = ?

		  (A)	21	 (B)	 23
		  (C)	 25	 (D)	22
		  (E)	 buesa ls dksbZ ugha

	 59.	 18.68 + 17.54 – 12.22 + 38.02 = ?
		  (A)	54.88	 (B)	 37.98
		  (C)	 32.68	 (D)	62.02
		  (E)	 buesa ls dksbZ ugha

	 60.	 50 × 42 ÷ 12 + 92 – 60 = ?2

		  (A)	18	 (B)	 17
		  (C)	 14	 (D)	12

		  (E)	 buesa ls dksbZ ugha

	 61.	 ,d nqdkunkj dks ` 1 esa 9 dye cspus ij 4 
çfr'kr gkfu gksrh gS] rks 44 çfr'kr ykHk dekus 
ds fy, ` 1 esa fdrus dye cspus gksaxs\

		  (A)	3	 (B)	 4

		  (C)	 5	 (D)	7

		  (E)	 6

	 62.	 ,d vkneh /kkjk ds vuqdwy 30 fdeh 6 ?k.Vs esa 
pyrk gS vkSj okil 10 ?k.Vs esa vkrk gSA fLFkj 
ty esa O;fDr dh pky Kkr dhft,A

		  (A)	3 fdeh@?k.Vk	 (B)	 4 fdeh@?k.Vk

	 	 (C)	 5 fdeh@?k.Vk	 (D)	6 fdeh@?k.Vk

	 	 (E)	 buesa ls dksbZ ugha

	 63.	 ,d 290 ehVj yEch jsy 36 fdeh@?k.Vk dh 

pky ls pyrh gS] rks fdrus le; esa 180 ehVj 

yEcs iqy dks ikj djsxh\

		  (A)	37 lsd.M	 (B)	 40 lsd.M

	 	 (C)	 45 lsd.M	 (D)	47 lsd.M

	 	 (E)	 buesa ls dksbZ ugha

	 64.	 30 vkneh ,d rkykc dks 25 fnuksa esa [kksn 

ldrs gSaA ;fn rkykc dks 15 fnuksa esa [kksnuk 

gks] rks fdrus O;fDr dke ij yxk;s tk,a\

		  (A)	45	 (B)	 60

		  (C)	 50	 (D)	57

		  (E)	 buesa ls dksbZ ugha

	 65.	 A o B dk eghus dk osru ̀  40,000 gSA A viuh 

vk; dk 85 çfr'kr O;; djrk gS rFkk B viuh 

vk; dk 95 çfr'kr O;; djrk gS ysfdu nksuksa 

dh cpr leku gS] rc A dh vk; Kkr dhft,A

		  (A)	` 10,000	 (B)	 ` 12,000

		  (C)	 ` 16,000	 (D)	` 18,000

		  (E)	 buesa ls dksbZ ugha

rkfdZd ;ksX;rk
funsZ'k (ç'u la[;k 66 ls 70 rd)

fuEufyf[kr tkudkjh dks /;kuiwoZd i<+sa vkSj uhps 

fn, x, ç'uksa ds mÙkj nsa %

vkB O;fDr A, B, C, D, E, F, G vkSj H dk tUe 

tuojh ls vxLr ds fofHkUu eghuksa esa leku o"kZ esa 

gqvk FkkA ysfdu vko';d ugha blh Øe esa gksA ,d 

eghus esa ,d ls vf/kd O;fDr dk tUe ugha gqvk gSA 

G dk tUe ml eghus esa gqvk ftlesa 31 fnu gSa ysfdu 

ebZ ds eghus esa ughaA G vkSj A ds chp ,d eghus dk 

varj gSA A, G ds ckn dgha iSnk gqvkA B dk tUe 

ml eghus esa gqvk] ftlesa fnuksa dh la[;k lcls de 

gSA E, C ds Bhd ckn iSnk gqvk FkkA E ls igys iSnk 

gq, O;fDr;ksa dh la[;k] E ds ckn iSnk gq, O;fDr;ksa 

dh la[;k ls ,d vf/kd gSA F, D ls igys iSnk gqvkA 

A vkSj H ds chp nks eghus dk varj gSA

ç'u la[;k 66 ls 70 rd ds gy gsrq %

eghuk fnu O;fDr

tuojh 31 G

Qjojh 28/29 B

ekpZ 31 A

vçSy 30 C

ebZ 31 E

twu 30 H

tqykbZ 31 F

vxLr 31 D

	 66.	 C ls igys fdrus O;fDr;ksa dk tUe gqvk\
		  (A)	,d	 (B)	 nks
	 	 (C)	 rhu	 (D)	pkj
	 	 (E)	 dksbZ ugha

	 67.	 tuojh ds eghus esa fdldk tUe gqvk \
		  (A)	A	 (B)	 B
		  (C)	 G	 (D)	D
		  (E)	 F
	 68.	 fuEufyf[kr esa ls fdl O;fDr dk tUe ml 

eghus esa gqvk gS ftlesa 30 fnu gksrs gSa\
		  (A)	A, G	 (B)	 C, G
		  (C)	 H, D	 (D)	C, H
		  (E)	 H, B

	 69.	 F ds Bhd ckn fdldk tUe gqvk \
		  (A)	A	 (B)	 G
		  (C)	 C	 (D)	D
		  (E)	 H
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	 70.	 fuEufyf[kr esa ls dkSu&lk dFku lR; gS\

		  (A)	G dk tUe ekpZ ds eghus esa gqvk Fkk

	 	 (B)	 A vkSj E ds e/; nks O;fDr gSa

	 	 (C)	 E dk tUe H ds Bhd igys gqvk gS

	 	 (D)	H dk tUe tqykbZ ds eghus esa gqvk Fkk

	 	 (E)	 dksbZ Hkh lgh ugha gS

funsZ'k (ç'u la[;k 71 ls 75 rd)
uhps fn, x, ç'uksa esa rhu dFku vkSj mlds ckn 
nks fu"d"kZ I vkSj II fn, x, gSaA vkidks fn, x, 
dFkuksa dks lR; ekuuk gS Hkys gh os lkekU; :i ls 
Kkr rF; ls fHkUu çrhr gksrs gksaA lHkh fu"d"kks± dks 
i<+sa vkSj fQj r; djsa fd dkSu&lk fu"d"kZ rkfdZd 
:i ls lkekU;r% Kkr rF;ksa dh vogsyuk djrs gq, 
fn, x, dFkuksa dk vuqlj.k djrk gSA

	 71.	 dFku %

		  dqN lsc ukjaxh gSaA

	 	dksbZ ukjaxh Qy ugha gSA

	 	dsoy dqN Qy dsys gSaA

	 	 fu"d"kZ %

		  I. dqN lsc Qy gSaA

	 	 II. dqN Qy dsys gSaA

		  (A)	dsoy I vuqlj.k djrk gS

	 	 (B)	 dsoy II vuqlj.k djrk gS

	 	 (C)	 ;k rks I ;k II vuqlj.k djrk gS

	 	 (D)	 I vkSj II nksuksa vuqlj.k djrs gSaA

	 	 (E)	 dksbZ vuqlj.k ugha djrk

	 72.	 dFku %

		  dqN yky uhys gSaA

	 	dksbZ yky dkyk ugha gSA

	 	 lHkh dkys xqykch gSaA

	 	 fu"d"kZ %

		  I. dqN xqykch dkys gSaA

	 	 II. dqN yky xqykch gSaA

		  (A)	dsoy I vuqlj.k djrk gS

	 	 (B)	 dsoy II vuqlj.k djrk gS

	 	 (C)	 I vkSj II nksuksa vuqlj.k djrs gSa

	 	 (D)	;k rks I ;k II vuqlj.k djrk gS

	 	 (E)	 dksbZ vuqlj.k ugha djrk

	 73.	 dFku %

		  dksbZ dqÙks fcfYy;k¡ ugha gSaA

	 	dsoy dqN fcfYy;k¡ taxyh gSaA

	 	 lHkh taxyh tkuoj gSaA

	 	 fu"d"kZ %

		  I. lHkh fcfYy;k¡ tkuoj gSaA

	 	 II. dqN fcfYy;k¡ tkuoj ugha gSaA

		  (A)	dsoy I vuqlj.k djrk gS

	 	 (B)	 dsoy II vuqlj.k djrk gS

	 	 (C)	 I vkSj II nksuksa vuqlj.k djrs gSa

	 	 (D)	;k rks I ;k II vuqlj.k djrk gS

	 	 (E)	 u rks I vkSj u gh II vuqlj.k djrk gS

	 74.	 dFku %

		  dqN dqflZ;k¡ Vscy gSaA

	 	dsoy dqN Vscy csM gSaA

	 	dksbZ csM QuhZpj ugha gSA

	 	 fu"d"kZ %

		  I. dqN dqflZ;k¡ csM gSaA

	 	 II. dqN QuhZpj Vscy gSaA

		  (A)	dsoy fu"d"kZ I vuqlj.k djrk gS

	 	 (B)	 dsoy fu"d"kZ II vuqlj.k djrk gS

	 	 (C)	 fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSa

	 	 (D)	;k rks fu"d"kZ I ;k II vuqlj.k djrk gS

	 	 (E)	 u rks fu"d"kZ I vkSj u gh II vuqlj.k djrk 
gS

	 75.	 dFku %

		  dqN eksckby dSydqysVj gSaA

	 	dqN dSydqysVj isu gSaA

	 	dsoy dqN isu gh Ldsy gSaA

	 	 fu"d"kZ %

		  I. dqN eksckby ds isu gksus dh laHkkouk gSA

	 	 II. dqN isu Ldsy ugha gSaA

		  (A)	dsoy fu"d"kZ I vuqlj.k djrk gS

	 	 (B)	 dsoy fu"d"kZ II vuqlj.k djrk gS

	 	 (C)	 ;k rks fu"d"kZ I ;k II vuqlj.k djrk gS

	 	 (D)	u rks fu"d"kZ I vkSj u gh II vuqlj.k djrk 

gS

	 	 (E)	 fu"d"kZ I vkSj II nksuksa vuqlj.k djrs gSa

funsZ'k (ç'u la[;k 76 ls 80 rd)

fuEufyf[kr tkudkjh dks /;ku ls i<+sa vkSj uhps 
fn, x, ç'uksa ds mÙkj nsa %

vkB O;fDr A, B, C, D, E, F, G vkSj H 4 eaftyksa 

vkSj 2 ¶ySVksa dh ,d bekjr esa jgrs gSa& ¶ySV 1 
vkSj ¶ySV 2.

¶ySV 1 ¶ySV 2 ds if'pe esa gS vkSj eafty 1 dk ¶ySV 

1 eafty 2 ds ¶ySV 1 ds Bhd uhps gS vkSj eafty 1 
dk ¶ySV 2, eafty 2 ds ¶ySV 2 ds Bhd uhps gS vkSj 

blh rjg vkxs HkhA B vkSj C ds e/; nks eafty gSaA

B, C ds Åij jgrk gS vkSj os fofHkUu ¶ySVksa esa jgrs 

gSaA A, D ds if'pe esa jgrk gS ysfdu fo"ke la[;k esa 

eafty ij jgrk gSA F, C ds Bhd Åij jgrk gSA dksbZ 

Hkh O;fDr G ds if'pe esa ugha jgrk gS tks pkSFkh eafty 

ij jgrk gSA H eafty 1 ij ugha jgrk gSA

ç'u la[;k 76 ls 80 rd ds gy gsrq %

eafty ¶ySV&1 ¶ySV&2
4 G B
3 A D
2 F H
1 C E

	 76.	 F ds Bhd iwoZ esa dkSu jgrk gS\

		  (A)	A	 (B)	 C

		  (C)	 D	 (D)	H

		  (E)	 B

	 77.	 B fdl eafty ij jgrk gS\

		  (A)	igyh	 (B)	 nwljh

	 	 (C)	 rhljh	 (D)	pkSFkh

	 	 (E)	 dksbZ ugha

	 78.	 H ds Bhd uhps dkSu jgrk gS\

		  (A)	A	 (B)	 B

		  (C)	 C	 (D)	D

		  (E)	 E

	 79.	 fuEufyf[kr esa ls dkSu&lk tksM+k lgh gS\

		  (A)	eafty & 2 ¶ySV & 1 & H

		  (B)	 eafty & 3 ¶ySV & 2 & D

		  (C)	 eafty & 4 ¶ySV & 2 & G

		  (D)	eafty & 1 ¶ySV & 2 & C

		  (E)	 eafty & 3 ¶ySV & 1 & F

	 80.	 E ds fy;s dkSu&lk ry&¶ySV feyku lgh gS\

		  (A)	eafty&1 ¶ySV&2

		  (B)	 eafty&2 ¶ySV&1

		  (C)	 eafty&3 ¶ySV&2

		  (D)	eafty&4 ¶ySV&1

		  (E)	 eafty&2 ¶ySV&2

funsZ'k (ç'u la[;k 81 ls 85 rd)

fuEufyf[kr ç'u fn, x, ik¡p 'kCnksa ij vk/kkfjr 

gSaA nh xbZ tkudkjh dk /;ku ls v/;;u djsa vkSj 

fuEufyf[kr ç'uksa ds mÙkj nsaA

YXZ    BAC    JFG    ROP    GON

	 81.	 ;fn çR;sd O;atu dks fn, x, 'kCnksa ds fiNys 

v{kj ls cny fn;k tkrk gS vkSj Loj ogh jgrk 

gS] rks fdrus 'kCnksa esa ,d ls vf/kd Loj gksrs 

gSa\

		  (A)	,d	 (B)	 nks

	 	 (C)	 rhu	 (D)	pkj

	 	 (E)	 ik¡p
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	 82.	 ck,a ls nwljs 'kCn ds rhljs v{kj vkSj nk;sa Nksj 

ls nwljs 'kCn dk nwljk v{kj ds chp o.kZekyk 

Üka`[kyk esa fdrus v{kj gSa\

		  (A)	vkB	 (B)	 ukS

	 	 (C)	 nl	 (D)	X;kjg

	 	 (E)	 ckjg

	 83.	 ;fn çR;sd 'kCn ds igys vkSj nwljs v{kj dks 
vkil esa cny fn;k tk, rks fdrus 'kCn Loj 
ls 'kq: gksrs gSa\

		  (A)	 ,d	 (B)	 nks
	 	 (C)	 rhu	 (D)	pkj
	 	 (E)	 ik¡p

	 84.	 ;fn fn, x, lHkh 'kCnksa dks 'kCnksa ds Hkhrj ck,a 
ls nk,a o.kkZuqØe esa O;ofLFkr fd;k tkrk gS] 
rks dkSu ck,a Nksj ls pkSFkk gksxk\

		  (A)	 YXZ	 (B)	 BAC
		  (C)	 JFG	 (D)	ROP
		  (E)	 GON

	 85.	 ;fn çR;sd 'kCn ds var esa ‘E’ tksM+k tk, rks 
fdrus vFkZiw.kZ 'kCn cusaxs\

		  (A)	,d	 (B)	 nks
	 	 (C)	 rhu	 (D)	pkj
	 	 (E)	 ik¡p

funsZ'k (ç'u la[;k 86 ls 88 rd)

fuEufyf[kr tkudkjh dk /;kuiwoZd v/;;u djsa 
vkSj fn, x, ç'uksa ds mÙkj nsaA

,d fuf'pr dksM Hkk"kk esa %

‘he is very fast’ dks ‘pa za kt pu’ ds :i esa dwVc¼ 
fd;k x;k gSA

‘this is computer’ dks ‘fp pu qs’ ds :i esa dksfMr 
fd;k x;k gSA

‘machine is fast’ dks ‘pu kt tq’ ds :i esa dksfMr 
fd;k x;k gSA

‘I like computer’ dks ‘fp sp el’ ds :i esa dksfMr 
fd;k x;k gSA

ç'u la[;k 86 ls 88 rd ds gy gsrq %

he pa za kt puis very fast

this fp pu qsis computer

machine pu kt tqis fast

I fp sp ellike computer

		  ‘is’ ds fy, dksM ® pu

		  ‘fast’ ds fy, dksM ® kt

		  ‘computer’ ds fy, dksM ® fp

		  ‘machine’ ds fy, dksM ® tq

		  ‘this’ ds fy, dksM ® qs

		  ‘he’ ;k ‘very’ ds fy, dksM ® ‘pa’ ;k ‘za’

		  ‘I’ ;k ‘like’ ds fy, dksM ® ‘sp’ ;k ‘el’

	 86.	 ‘computer’ dk dwV D;k gksxk\

		  (A)	e1	 (B)	 pu

		  (C)	 fp	 (D)	kt

		  (E)	 za

	 87.	 ‘machine’ dk dwV D;k gS\

		  (A)	 tq	 (B)	 kt

		  (C)	 pa	 (D)	pu

		  (E)	 fu/kkZfjr ugha fd;k tk ldrk gS

	 88.	 ‘he’ dk dwV D;k gS\

		  (A)	 pa

		  (B)	 za

		  (C)	 ;k rks (A) ;k (B)

		  (D)	 kt

		  (E)	 pu

funsZ'k (ç'u la[;k 89 ls 93 rd)

fuEufyf[kr tkudkjh dks /;ku ls i<+sa vkSj uhps 
fn, x, ç'uksa ds mÙkj nsa %

ckjg O;fDr nks lekukarj iafDr;ksa esa çR;sd esa Ng 

O;fDr bl çdkj cSBs gSa fd ogk¡ vklUu O;fDr;ksa ds 

chp leku nwjh gSA iafDr&1 esa P, Q, R, S, T vkSj U 
cSBS gSa vkSj lHkh dk eq¡g nf{k.k fn'kk esa gSA iafDr&2 esa 

A, B, C, D, E vkSj F cSBS gSa vkSj mu lHkh dk eq[k 

mÙkj dh vksj gSA blfy, nh xbZ cSBus dh O;oLFkk esa 

,d iafDr esa cSBs çR;sd lnL; dk eq[k nwljh iafDr 

esa nwljs lnL; dh vksj gSA

Q iafDr ds fdlh ,d Nksj ij cSBk gSA P vkSj Q ds 

chp ,d O;fDr cSBk gSA R, D ds foijhr cSBk gSA A, 
D ds rqjar nk;sa cSBk gSA S vkSj T ds chp rhu O;fDr 

cSBs gSa vkSj S iafDr ds fdlh Hkh Nksj ij ugha cSBk gSA 

U, T dk iM+kslh ugha gSA E, S ds foijhr cSBk gSA C, 
B ds nk;sa ls nwljs LFkku ij cSBk gSA ;k rks B ;k C 
iafDr ds var esa cSBk gSA P dk eq[k B dh vksj ugha gS 

vkSj T dk eq[k C dh vksj ugha gSA F, E ds nk;sa ls 

nwljs LFkku ij cSBk gSA

ç'u la[;k 89 ls 93 rd ds gy gsrq %

B

Q

E

S

C

P

F

U

D

R

A

T

	 89.	 iafDr ds var esa dkSu cSBk gS\

		  (A)	 P	 (B)	 C

		  (C)	 A	 (D)	U

		  (E)	 R

	 90.	 U ds nk;sa ls nwljs LFkku ij dkSu cSBk gS\

		  (A)	Q	 (B)	 S
		  (C)	 P	 (D)	T
		  (E)	 R

	 91.	 ik¡p esa ls pkj fuf'pr :i ls ,d tSls gSa vkSj 
,d lewg cukrs gSaA og Kkr dhft, tks lewg 
ls lacaf/kr ugha gS\

		  (A)	Q, B	 (B)	 P, C
		  (C)	 U, F	 (D)	T, A
		  (E)	 P, F

	 92.	 D dh vksj mUeq[k O;fDr ds Bhd nk;sa dkSu cSBk 
gS\

		  (A)	Q	 (B)	 U

		  (C)	 P	 (D)	T

		  (E)	 S

	 93.	 fuEufyf[kr esa ls dkSu&lk tksM+k iafDr ds var 
esa cSBk gS\

		  (A)	Q – A	 (B)	 T – C

		  (C)	 A – P	 (D)	Q – R

		  (E)	 buesa ls dksbZ ugha

	 94.	 ,d fuf'pr dwV Hkk"kk esa “all means some” 
dks “578” ds :i esa dksfMr fd;k tkrk gS vkSj 
“few means some” dks “358” ds :i esa 
dksfMr fd;k tkrk gS vkSj “all means not” dks 
“874” ds :i esa dksfMr fd;k tkrk gSA “all” 
dk dwV D;k gS\

		  (A)	5	 (B)	 8

		  (C)	 3	 (D)	7

		  (E)	 4

funsZ'k (ç'u la[;k 95 ,oa 96 ds fy,)

fuEufyf[kr tkudkjh dks /;ku ls i<+sa vkSj uhps 
fn, x, ç'uksa ds mÙkj nsa %

,d lewg esa ,d ifjokj ds 6 lnL; gSa& P, Q, R, 
S, T vkSj U

S, Q dk iq= gSA Q, R dh iq=h gSA P, T dh iq=h gSA P 
vkSj Q HkkbZ&cgu gSaA U, S dk firk gSA

ç'u la[;k 95 vkSj 96 ds fy, %

efgyk iq#"k

R

Q

T

P

iq=h iq=h

ifr cgu

iq=
firk

S

U
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	 95.	 S, T ls fdl çdkj lacaf/kr gS\

		  (A)	iq=	 (B)	 iksrk

	 	 (C)	 iksrh	 (D)	nknkth

	 	 (E)	 fu/kkZfjr ugha fd;k tk ldrk

	 96.	 Q dk firk dkSu gS\

		  (A)	T	 (B)	 R
		  (C)	 P	 (D)	U
		  (E)	 fu/kkZfjr ugha fd;k tk ldrk

funsZ'k (ç'u la[;k 97 ls 99 rd)

fuEufyf[kr ç'u esa fn, x, dFku dks lR; ekurs 
gq,] Kkr dhft, fd buesa ls dkSu&lk fu"d"kks± esa ls 
fuf'pr :i ls lR; gS@gSa vkSj fQj viuk mÙkj nsaA

	 97.	 dFku% X > Z < Y ≤ V; P > K > S = Q ≥ V
		  fu"d"kZ %	 I.	 K > X
			   II.	 Y < P

		  (A)	dsoy I gh lR; gS

	 	 (B)	 dsoy II lR; gS

	 	 (C)	 ;k rks I ;k II lR; gS

	 	 (D)	u rks I vkSj u gh II lR; gS

	 	 (E)	 I vkSj II nksuksa lR; gSa

	 98.	 dFku% U ≤ W ≥ R > S ; T > S = V

		  fu"d"kZ %	 I.	 W < V
			   II.	 T < V

		  (A)	dsoy I gh lR; gS

	 	 (B)	 dsoy II lR; gS

	 	 (C)	 ;k rks I ;k II lR; gS

	 	 (D)	u rks I vkSj u gh II lR; gS

	 	 (E)	 I vkSj II nksuksa lR; gSa

	 99.	 dFku% P ≥ Q = R ≥ N < S

		  fu"d"kZ %	 I.	 S > Q
			   II.	 P ≥ N

		  (A)	 dsoy I vuqlj.k djrk gS

	 	 (B)	 dsoy II vuqlj.k djrk gS

	 	 (C)	 I vkSj II nksuksa vuqlj.k djrs gSa

	 	 (D)	 ;k rks I ;k II vuqlj.k djrs gSa

	 	 (E)	 dksbZ vuqlj.k ugha djrk

	100.	 ;fn 'kCn ‘ABSOLUTE’ ds nwljs] rhljs vkSj 

vkBosa v{kjksa ls dksbZ vFkZiw.kZ 'kCn cukuk laHko 

gks rks fuEufyf[kr esa ls dkSu&lk ml 'kCn ds 

ck;sa ls rhljk v{kj gksxk\ ;fn ,sls ,d ls 

vf/kd 'kCn cu ldrs gSa rc mÙkj ‘X’ nsa vkSj 

;fn ,slk dksbZ 'kCn ugha cuk;k tk ldrk gS 

rks mÙkj ‘Y’ nsaA

		  (A)	X	 (B)	 Y
		  (C)	 E	 (D)	S
		  (E)	 B

O;k[;kRed gy
ENGLISH LANGUAGE

	 1.	 (C)	 fodYi (C) esa ç;qDr small pieces of 
furnitures dh txg small pieces of 
furniture dk ç;ksx gksxk D;ksafd furniture 
,d uncountable noun gSA

	 2.	 (C)	 fodYi (C) esa ç;qDr that himself dh 
txg that he himself dk ç;kssx gksxk 
D;ksafd emphatic pronoun dk ç;ksx 

vdsys ugha gksrk gSA

	 3.	 (B)	 fodYi (B) esa ç;qDr greedily the 
chicken sandwich dh txg the 
chicken sandwich greedily dk ç;ksx 
gksxk D;ksafd Adv. of manner dks verb vkSj 
direct object ds chp esa ugha j[kk tkrk gSA

	 4.	 (B)	 fodYi (B) esa ç;qDr some mughal silver 
charming ornaments dh txg some 
charming mughal silver ornaments 
dk ç;ksx gksxkA Cumulative Adjectives 
dk Øe fuEuor~ gS& Quantity, opinion, 
size, shape, temperature, age, colour, 
origin and material.

	 5.	 (E)	 No error

	 6.	 (C)	 making the trip from dh txg makes 
the trip from dk ç;ksx gksxk D;ksafd 
facts rFkk permanent situations ds fy, 
Present Indefinite Tense dk iz;ksx gksrk 
gS u fd present continuous tense dkA

	 7.	 (D)	The correct option is (D) i.e. Rami-
fication (QSyko)A Reciprocation & 
fofue; djuk] vknku&çnku djuk] 
çfrQy pqdkuk] Propaganda & çpkj 
djuk] Intimidation & /kedhA

	 8.	 (C)	 The correct option is (C) i.e. powers, 
Agony & O;Fkk] ;kruk] lUrkiA

	 9.	 (A)	The correct option is (A) i.e. ‘slippery’ 
fQlykÅ] uktqd] shallow & mFkyk] 
rqPN] defective & nks"kiw.kZ] impolite & 
vlH;A

	 10.	 (D)	The correct option is (D) i.e. ‘dreams’.

	 11.	 (C)	 The correct option is (C) i.e. displayed.
	 12.	 (E)	 The correct option is (E) i.e. success.

	 13.	 (A)	Both a and b Squash dk vFkZ gSµdqpy 
nsuk_ ?kqldj cSBukA

	 14.	 (C)	Both b and c, drowsy dk vFkZ gS& 
fuækyqA

	 15.	 (B)	 Both a and c, Analysis (N) dk vFkZ gS& 
foys"k.kA

	 16.	 (D)	The correct option is (D) i.e. she 
laughed in a loud, vulgar manner 
that distressed the guests vulgar dk 
vFkZ gSµv'yhy] vHknzA

	 17.	 (E)	 None of the above.
	 18.	 (C)	 Because there is a large gap 

between people's perception of fish 
intelligence and reality. See the 3rd 
sentence of the 1st paragraph.

	 19.	 (D)	The perception of an animal's 
intelligence often drives our decision 
whether or not to include them in our 
moral circle. See the last sentence of 
the 1st paragraph.

	 20.	 (A)	The debate about fish welfare is 
centered on the question of whether 
they are sentient or conscious. See 
the 2nd sentence of 2nd paragraph.

	 21.	 (D)	According to the passage, the 
statement given in the option (D) 
is false. Fish experience pain in a 
manner similar to the rest of the 
vertebrates.

	 22.	 (D)	The passage reviews the current state 
of knowledge of fish cognition.

	 23.	 (B)	 According to the passage, the state-
ment given in option (B) is true.

	 24.	 (A)	'kCn ‘intriguing’ (yqHkkouk] fnypLi) dk 

'kq¼ synonym gS& gripping (jksekapd)A 

vr% fodYi (A) lgh gSA

	 25.	 (A)	'kCn abundant (çpqj) dk 'kq¼ synonym 
gS& plentiful (vf/kd ek=k esa), scarce 
& vYi] U;wu] paltry & rqPN] ux.;] 

meagre & vYi] nqcZy] rqPN] rare & 

fojy] nqyZHkA
	 26.	 (B)	 The sentence given in option (B) is 

the 1st sentence of the passage.
	 27.	 (A)	The sentence given in option (A) is 

2nd sentence of the passage.
	 28.	 (E)	 The sentence given in option (E) is 

3rd sentence of the passage.
	 29.	 (C)	 The sentence given in option (C) is 

4th sentence of the passage.
	 30.	 (C)	 The sentence given in option (C) is 

the last sentence of the passage.

la[;kRed ;ksX;rk
	 31.	 (C)	40 Nk=ksa ds vkSlr vad

	 	 	
=

 

ç{s k.kksa dk ;kxs
ç{s k.kkas dh l[a ;k

			   40 Nk=ksa ds dqy vad = 75 × 40 = 3000

			   2 Nk=ksa ds vadksa dk vUrj
	 	 	 	 = (65 – 56) + (69 – 38)
				                    = 40
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			   blfy,] 40 Nk=ksa ds dqy u, vad
	 	 	 = 3000 + 40 = 3040

			 
lgh vkSlr =

 

3040

40  
= 76

	

32.	 (A)

	
		  	 QB us 10 fnu dke fd;kA

	 	 	 \ B }kjk fd;k x;k dke = 10 × 6 = 60

			   'ks"k dke = 90 – 60 = 30

			 
'ks"k dke esa A }kjk fy;k x;k le;

 
=

 30

5  
= 6

 
fnu

	
33.	 (B)

	   
SI = 

P R T× ×
100

			 
840

5 8

100
=

× ×P

			       P = 2100

			 
iqu%] 840 =

 

2100 5

100

× ×R

			              R = 8%

	 34.	 (C)	A dh orZeku vk;q = 36 o"kZ

	 	 	 B dh orZeku vk;q = 50 o"kZ

	 	 	 iz'ukuqlkj]

	 	 	 	

36

50

3

4

+
+

=
k

k

	 	 	 144 + 4k = 150 + 3k
			               k = 6

	
35.	 (A)	igys tkj esa ikuh = dqy {kerk dk

 

1

4

	 	 	
nwljs tkj esa ikuh = dqy {kerk dk

 

1

3

	 	 	 eku yhft, nks tkj esa 4 yhVj ikuh Mkyk 
x;k gSA

	 	 	 blfy,] igys tkj dh {kerk = 4 × 4
						      = 16 yhVj

	 	 	 nwljs tkj dh {kerk = 4 × 3 = 12 yhVj

	 	 	 nwljs tkj ls igys tkj esa ikuh Mkyus ds 
ckn] igys tkj esa ikuh dh {kerk

	 	 	 	 		 = (4 + 4) yhVj

					              = 8 yhVj

	 	 	
cM+s tkj esa ikuh dk Hkkx =

 

8

16

					                 
=

 

1

2

	 36.	 (C)	 Nk=ksa dh dqy la[;k = 60
			   yM+dksa dh la[;k

	 	 	
= yM+fd;ksa dh la[;k dk

 

5

7

	 	 	 blfy,] yM+dksa dh la[;k % yM+fd;ksa dh 
la[;k = 5 : 7

			 
yM+fd;ksa dh la[;k =

 

7

12
60×

 
= 35

	 37.	 (D)	xqykc ilan djus okyh yM+fd;ksa dh la[;k 

=
 

2

7
35×

 
= 10

			   lwjteq[kh dks ilan djus okys yM+dksa dh 
la[;k = yM+dksa dh la[;k dk 60% = 

100
10 60×  = 6

			   lwjteq[kh dks ilan djus okyh yM+fd;ksa 
dh la[;k = 2.5 × 6 = 15

			   dey dks ilan djus okyh yM+fd;ksa dh 
la[;k = 35 – 15 – 10 = 10

			   dey dks ilan djus okys yM+dksa dh 
la[;k 

=
 

15

150
100×

 
= 10

			   dey dks ilan djus okyh yM+fd;ksa vkSj 
yM+dksa dh la[;k dk vuqikr = 10 : 10

					                       = 1 : 1
	 38.	 (A)	xqykc dks ilan djus okys yM+dksa dh 

la[;k = 25 – 10 – 6 = 9
			   xqykc dks ilan djus okyh yM+fd;ksa dh 

la[;k = 10
			   xqykc ilan djus okys dqy Nk=ksa dh la[;k 

= 10 + 9 = 19

	 39.	 (B)	xqykc ilan djus okys yM+dksa dh la[;k
	 	 	 = 9

			   xqykc ilan djus okyh yM+fd;ksa dh 
la[;k 

=
 

9

10
100×

 
= 90%

	 40.	 (C)	 lwjteq[kh vkSj dey ilan djus okys 
yM+dksa dh la[;k = 6 + 10 = 16

			   lwjteq[kh vkSj xqykc ilan djus okyh 
yM+fd;ksa dh la[;k = 15 + 10 = 25

			   vko';d vUrj = 25 – 16 = 9

	
41.	 (C)

	

		  	 9 × 2 – 1 = 17

			   vr% 18 xyr in gSA

	
42.	 (B)

	
		  	 Q vHkkT; la[;k,a c<+rs Øe esa gSaA

	 	 	 blfy, 19 xyr in gSA

	 	 	 19 ds LFkku ij 20 vk;sxkA

	

43.	 (A)

	
		  	 vr% 40 xyr in gSA
	 	 	 Q 14 + 33 = 41

	

44.	 (D)

	
		  	 135 xyr in gSA

	 	 	
Q 270

1

3
90× =

	

45.	 (C)

	

			   vr% 65 xyr in gSA

	 	 	 Q 80 – 20 = 60

	 46.	 (C)	 (3.9 + 4.1) × 2.5 + 9 – 25 = (?)2

			   8 × 2.5 – 16 = x2

			   20 – 16 = x2

			   x2 = 4
			   x = 2

	 47.	 (B)	90 dk 60% + 64 dk 12.5% – 39 + 16

			 
=

 
90

60

100
64

1

8
39 16× + × − +

			   = 54 + 8 – 23
			   = 39

	
48.	 (D)

	
306

17
12 6 18 30×




÷ + −

			 
=

 

306

17
12 6 12×




÷ −

			 
=

 

18 12

6
12

×
−

			   = 36 – 12
			   = 24

	 49.	 (C)	 (123 – 51) ÷ 3 + 33 – ? = 239
			   ? = (1728 – 51) ÷ 3 + 27 – 239

			      
=

 

1677

3
27 239+ −

			      = 559 + 27 – 239
			      = 347

	 50.	 (A)	 (33.98 + 28.02 + 2)1/2 × 3.2 – 11.6
			   = (64)1/2 × 3.2 – 11.6
			   = 8 × 3.2 – 11.6
			   = 25.6 – 11.6
			   = 14

	 51.	 (C)	 tuojh esa A }kjk mRiknu = 4.4
			   tuojh esa B }kjk mRiknu = 2.6

			 

4 4 2 6

2 6
100

1 8

2 6
100

. .

.

.

.

−
× = ×

			                            = 70%

	 52.	 (A)	Qjojh esa dqy vkSlr mRiknu

	 	 	 	
=

 

2 4 4 4 1 8 2 8

4

. . . .+ + +
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=

 

11 4

4

.

 
= 2.85

 
Vu

	 53.	 (B)	C vkSj D }kjk tuojh esa dqy mRiknu

	 	 	 	 	 		 = 3.6 + 3
						                        = 6.6

			   B vkSj C }kjk tuojh esa dqy mRiknu

	 	 	 = 4.4 + 1.8
			                                          = 6.2

			   vuqikr = 6.6 : 6.2 = 33 : 31

	 54.	 (D)	tuojh esa dqy mRiknu
	 	 	 	 	 = 4.4 + 2.6 + 3.6 + 3
					                        = 13.6

			   Qjojh esa dqy mRiknu
	 	 	 = 2.4 + 4.4 + 1.8 + 2.8
					                     = 11.4

			   vUrj = 13.6 – 11.4

			             = 2.2 Vu

	 	 	        = 2.2 × 1000 = 2200 fdxzk

	 55.	 (C)	Qjojh ekg esa A }kjk mRiknu = 2.4

			   tuojh ekg esa B }kjk mRiknu = 3.6

			   dqy mRiknu (A + C) = 2.4 + 3.6

					              = 6 Vu
	 56.	 (B)	 855.8 + 89.2 – (19 × 12) + (64 ÷ 4)
			   = 945 – 228 + 16
			   = 733

	 57.	 (A)	96 dk 16.66% + 200 dk 37.5%
			   – (27 × 2)

			 
=

 
96 16

2

3
200

37 5

100
54× + × −%

.

			 
=

 
96

50

300
75 54× + −

			   = 16 + 21
			   = 37

	
58.	 (D)

	

5

7

13

21
6 50 762+




× + −

	 	 	
=

 

5

7

13

21
6 262+




× −

			 
=

 

28

21
6 262× −

			 
=

 

4

3
36 26× −

			   = 22
	 59.	 (D)	18.68 + 17.54 – 12.22 + 38.02
			   = 36.22 – 12.22 + 38.02
			   = 24 + 38.02
			   = 62.02

	 60.	 (C)	 50 × 42 ÷ 12 + 92 – 60 = x2

			 
50

42

12
81 60 2× + − = x

			   175 + 21 = x2

			   196 = x2

			   x = 14

	 61.	 (E)	 9 dye 1 #i, dh gS

	 	 	
1
 
dye dk ewY;

 

1

9  
#i, gSA

	 	 	 iz'ukuqlkj]

	 	 	

1

9

100

96

144

100

1

6
× × =

	 	 	 1 #i, = 6 dye

	
62.	 (B)	vuqçokg esa xfr (u + v) =

 

30

6

				    = 5 fdeh@?k.Vk
...(i)

	 	 	
m/oZçokg esa xfr (u – v) =

 

30

10

		   = 3 fdeh@?k.Vk
...(ii)

			   leh- (i) o leh- (ii) ls

	 	 	 	                 2u = 8
	 	 	 vr% 'kkar ty esa xfr u = 4 fdeh@?k.Vk

	 63.	 (D)	fn;k gS] Vªsu dh yEckbZ = 290 eh

			   iqy dh yEckbZ = 180 eh

			   Vªsu dh pky = 36 fdeh@?k.Vk

	 	 	 ge tkurs gSa D = S × T

			 
(290 + 180) = 36 ×

 

5

18  
× T

	 	 	          470 = 10 × T
			                   T = 47 lsd.M

	 64.	 (C)	lw=] M1D1 = M2D2

			   30 × 25 = 15 × M

			            M = 50

	 65.	 (A)	ekuk] A dk osru = ` x 

			   blfy,] B dk osru = ` (40,000 – x)  

			   \ vk; = [kpZ + cpr

	 	 	 Q A vkSj B nksuksa dh cpr cjkcj gSa]

	 	 	
x x× = −

15

100
40 000

5

100
( , )

	 	 	       3x = 40,000 – x

			           4x = 40,000

			   vr% A dk osru x = ` 10,000

rkfdZd ;ksX;rk
	 66.	 (C)	C ls igys rhu O;fDr;ksa G, B vkSj A dk 

tUe gqvkA

	 67.	 (C)	G dk tUe ml eghus esa gqvk ftlesa 31 
fnu gSaA

	 68.	 (D)	C vkSj H dk tUe ml eghus esa gqvk ftlesa 
30 fnu gSaA

	 69.	 (D)	D dk tUe F ds rqjUr ckn gqvkA

	 70.	 (C)	G dk tUe ekpZ ds eghus esa gqvk & vlR;

	 	 	 A vkSj E ds e/; nks O;fDr gSa & vlR;

	 	 	 E dk tUe H ds Bhd igys gqvk & lR;

	 	 	 H dk tUe tqykbZ ds eghus esa gqvk Fkk

	 	 	 & vlR;

	 	 	 vr% fodYi (C) lgh gSA

	

71.	 (B)

	

lsc ukjaxh Qy

dsyk

		  	 I. dqN lsc Qy gSaA (×)

	 	 	 II. dqN Qy dsyk gSaA (ü)

	 	 	 dsoy fu"d"kZ II vuqlj.k djrk gSA

	

72.	 (E)

	

yky uhyk

dkyk

xqykch

		  	 I. dqN xqykch dkys gSaA (ü)

			   II. dqN yky xqykch gSaA (×)

			   dsoy fu"d"kZ I vuqlj.k djrk gSA

	

73.	 (E)

	

dqÙks fcYyh taxyh
tkuoj

		  	 I. lHkh fcfYy;k¡ tkuoj gSaA (×)

			   II. dqN fcfYy;k¡ tkuoj ugha gSaA (×)

			   u rks fu"d"kZ I u gha II vuqlj.k djrk gSA

	
74.	 (E)

	

			   I. dqN dqflZ;k¡ csM gSaA (×)

			   II. dqN QuhZpj Vscy gSaA (×)

			   u rks fu"d"kZ I u gh II vuqlj.k djrk gSA
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75.	 (E)

	

eksckby
dSydqysVj

isu Ldsy

		  	 I. dqN eksckby ds isu gksus dh laHkkouk 
gSA (ü)

			   II. dqN isu Ldsy ugha gSA ()

			   dsoy fu"d"kZ I vuqlj.k djrk gSA

	 76.	 (D)	F ds Bhd iwoZ esa H gSA

	 77.	 (D)	B eafty 4 ij jgrk gSA

	 78.	 (E)	 H ds Bhd uhps E gSA

	 79.	 (B)	eafty&3 ¶ySV&2&D lgh ;qXe gSA

	 80.	 (A)	E eafty&1 vkSj ¶ySV&2 ij jgrk gSA
	 81.	 (A)	YXZ ® XWY

			   BAC ® AZB (1 Loj)

	 	 	 JFG ® IEF (2 Loj)

	 	 	 ROP ® QNO (1 Loj)

	 	 	 GON ® FNM

			   ‘IEF’ esa ,d ls vf/kd Loj gSaA

	 82.	 (D)	ck,a ls nwljs 'kCn dk rhljk v{kj = C

			   nk,a ls nwljs 'kCn dk nwljk v{kj = O

			   o.kZekyk Üka`[kyk esa C vkSj O ds chp 11 
v{kj gSaA

	 83.	 (C)	YXZ ® XYZ
			   BAC ® ABC
			   JFG ® FJG

			   ROP ® ORP

			   GON ® OGN

			   rhu 'kCn Loj ls 'kq: gksrs gSaA

	 84.	 (D)	'kCnksa dks o.kkZuqØe esa O;ofLFkr djus ij]

	 	 	 BAC ® GON ® JFG ® ROP ® 
YXZ

			   ck,a ls pkSFkk ‘ROP’ gksxkA

	 85.	 (B)	 Y X Z E , BAC E , J FG E ,

			   R OP E ,
 G O N E

		  	 vFkZiw.kZ 'kCn % ROPE, GONE

	 86.	 (C)	 ‘computer’ ds fy, dksM ‘fp’ gksxkA

	 87.	 (A)	‘machine’ ds fy, dksM ‘tq’ gksxkA

	 88.	 (C)	 ‘he’ ds fy, dksM ‘pa’ ;k ‘za’ gksxkA

	 89.	 (C)	A iafDr ds nka;s Nksj ij mÙkj dh vksj eq¡g 
djds cSBk gSA

	 90.	 (B)	S, U ds nk,a nwljk gSA

	 91.	 (E)	 Q, B ds foijhr gSA

	 	 	 P, C ds foijhr gSA

	 	 	 U, F ds foijhr gSA

	 	 	 T, A ds foijhr gSA

	 	 	 P, F ds foijhr ugha gSA

	 	 	 vr% fodYi (E) vU; lHkh ls fHkUu gSA

	 92.	 (B)	R dk eq¡g D dh vksj gSA U, R ds rqjUr 
nk;sa cSBk gSA

	 93.	 (A)	Q, T, B vkSj A iafDr ds Nksj ij cSBs gSaA

	 	 	 vr% fodYi (A) lgh gSA

	

94.	 (D)

	

		  	 ‘all’ ds fy, dksM ‘7’ gSA

	 95.	 (B)	S, T dk iksrk gSA

	 96.	 (E)	 R vkSj T dk fyax Kkr ugha gSA

	 	 	 blfy, R ;k T, Q ds firk gSaA

	 	 	 vr% fodYi (E) lgh gSA

	 97.	 (B)	X > Z < Y ≤ V ≤ Q = S < K
			   Y ≤ V ≤ Q = S < K < P

			   I. K > X (vlR;)

	 	 	 II. Y < P (lR;)

	 	 	 dsoy fu"d"kZ II lR; gSA

	 98.	 (D)	U ≤ W ≥ R > S = V
			   T > S = V
			   U ≤ W ≥ R > S

			   I. W < V (vlR;)

	 	 	 II. T < V (vlR;)

	 	 	 u rks fu"d"kZ I u gh II lR; gSA

	 99.	 (B)	P ≥ Q = R ≥ N < S

			   I. S > Q (vlR;)

	 	 	 II. P ≥ N (lR;)

	 	 	 dsoy fu"d"kZ II lgh gSA

	100.	 (B)	 fn;k x;k 'kCn %

	 	 	 	1	 2	 3	 4	 5	 6	 7	 8

				   A	 B	 S	 O	 L	 U	 T	 E

			   v{kjksa B, S vkSj E ls dksbZ 'kCn ugha cuk;k 

tk ldrk gSA vr% ‘Y’ lgh mÙkj gSA	
qq

1

0.25 =

100 marks

(75–85)(0–75) (85–100)


